0€-6Z2-£2-SLOV : IANULAY - 30D
[D0-v] 1S : Imuaden - LonAodd

[60-70] G-1 : qu3don - 13aon
dUVNIDVMSHTIOA : W)IdVIN - NV S

aydvno LNO¥A
V1INIMVE BEKHTad3U




30 Min

HTC 230
HTC 269

DIN 6923 (M8)

‘7 DIN 6921 (M8x30)

DIN 6921 (M8x30)

DIN 6921 (M10x25)
‘ e
50)

(2x) HTC 230 : M10x30 (5X20X60)

(2x) HTC 269 : M10

(2x) FRONT BRACKET 1

(4x) DIN 933 : M8x30

(8x) DIN 125: M8

(4x) DIN 934 : M8

(2x) FRONT BRACKET 2

(4x) DIN 6921 : M10x25

(6x) DIN 6923 : M10




